0

A I TWERWING  HERANSING  (ONTHME WA CivpF 2

4

L /R 70)9_

[ Q). D¢ [)MHOA\Q 2[?():\3)(%,}7 0 J*l\jgeyb/ 9p (0/&{/]

’/ZZI/l /77/// d@g/im’/

g a

Inhowd  omwen lemap Ve hogn

(S i

TP dy =) T\ olx = :Wé(x+/) .

)

2
T Iéﬂﬁ__ V% = W%’ /@4);77-;—72.4 JQQWI/

gl N
L) (x + 00 em(8x 0 x" Jdx =




= ]
, £ <
&) Thay)s 7 4+ 3xy+ 5y
ot e 5F
Q) o Jz(bﬁz\/ s i P RV
b oY 7 7

2

N AN
r & 3
Fin2) ,W?l@hf %h’) o ARG ¥ N o Ko S
va 2(5 vy £ /
&> X M Yoy &2 ~X>0 on x:u/y
’ 2

&) %75 YR A U/,@X igsb, ga-ysC, WdCE
e L
[kt I 3 fi5 25460 Zap(eflmnl
r\\,q) 42 B me P vy
=)
(,,fvﬁ l/?ﬂ// L‘m X : o
- K2~ ¢
o : , —fr
E}V\) M M A\ [Hj 61_(
C) \/P/rqc)/u%m roQ v"'?’{c D

af
7 Ot
f/h-p = l\:}']‘l :" :@4'21; ‘:iz %/1)%/):&7/ é/\_//l/:}L :8

Ly

Jaaled)+3(y-3)




=if

)
=

~ - Iy SRPEN = - -
[+ L B0V 'jt+i46+t+1
G)_q) »—«i\)— Sl

= g 31 - 1

B . = = - & - =
ol i) . Mdclaiaalt . iof 7
= =\ m=——— = £ | == /
{

3 @-2X34) 1244° 9
) 1
L) .S\C,YMML 8+8\E( 0 o[/’ WOV r‘fmvﬁ-!—r.ﬁ%ﬁ) vvd >0
(\f, +%\E{{’!:\'8 ( ; (W«V?!Z ‘l[
T R B &’r = SLV:I (0- 777
( 4 c r T4 < [

s 84837 = i[(@?ﬁ-vf 1800 fﬁ)

(848\[?5 /:>)u: :éjofcm 20T 4 (S 3;077) ke Q’W/u\» ol + I /07')
% : @\ d J

£.). i &fzw)?qt'u-’o

b[t OL sfm’ Q*l ~ 34 GL:?/‘

Das i :ﬁfwf),? 43/ = rm@_@_@wmﬁgj_

Dao3%434i)ausls (3u3laed)
:&mMzn; soe (2430 (31) o] 253

10 [0 :
4 24102Ut~o_,13 S —(O2( {

e 5 s 7 ——
C/L\M(? Q2 [ 10 JQ_M_M-H_CMW) med 0>D
J Tt v/ ¥
D~ C ‘ ,

2] 1021 s Lo2lf, (A (7/,/»0) 1h ([ | - .
L0y = L Uiy 3T+ Lok ) \ - 80 [<3T) 47 (s0f 5/77))
Ca P . &z
(pn(O(’Q/n,afm 2 = P/Q%f‘r"vﬂ- EL‘—Z) H“m/ :E\L/' 2(’[7)) j
\1 = V \ \ U [ 4 e /
e )
T o S \
M,gp/r L) bmfl/} B‘j_ (\'7('0\)3 Y257 ) ?)O
I + 2 Y [fﬂ\ (>0, Q =
g 243 s




3} Ped 130

(0] (e | Juii g £ >0 (m)rv—rfmT/')
/ T 7 e

q

L5 p.cn > loo + Wi e 201 LeZ)

SEIET/PN /[/(i)/

% FL}, 2 S
gic ) : gl i o) BIRY

,hr‘& Lﬂ+9(/77)[ (167

@m0 w2 (55 zm

i - /
/ ) -~
= 5. g Yy T s — — . A
v A =3 773 2 7
¥




